
CASE STUDY FOR CLASS 6

CH-1,2

Rimi went to visit an orchard with her grandfather. In the orchard, 19625 trees were planted
in a row. On may 15th 27 people visited the orchard. On the next day 23 people visited the
same. The entrance fee for the orchard was Rs. 10 for each individual. Rimi was that
oranges were being plucked in different baskets and the baskets containing the fruits, were
being sold to the visitors.

1.There were 15 dozen oranges in the basket. 3 dozen oranges were added. Then 12
oranges got rotten, so they were thrown out. The remaining oranges are kept equally in 2
baskets. How many oranges are there in each basket?

2. How much entrance fee was collected from the individuals in those two days?

3. 19625 trees have been equally planted in 125 rows. What is the number of trees in each
row?

Answer the following sums:

1. A bullet moves at a constant speed of 86 km per hour. How much distance will it
cover in 24 hours?

2. The product of two numbers is 155952. If one number is 342, find the other number.

Choose the correct options:

1. Face value of 8 in 486732 is

A. 80000

B. 8000

C. 800

D. 8

2. The place value of 0 in 350672 is

A. 10

B. 0



C. 100

D. 1000

3. 2 million in equal to

A. 20 LAKHS

B. 2 LAKHS

C. 2 CRORES

D. 20 CRORES

4. The number obtained when 433 is divided by 7 is:

A. LXII

B. LXIIII

C. XXXVIII

D. LXIX

5. A number is subtracted from 17 and the output is 2, The number is:

A. 4

B. 14

C. 10

D. 9


